1518b-2c-ethip4ipsecl0000t 0.5 0.0 1.3 0.0 +147.1 0.6
imix-2c-ethipd4ipsecl1000tnl 1.4 £ 0.0 3.1 £ 0.0 +126.6 + 0.6
imix-2c-ethip4ipsecl0000tr 1.3 £ 0.0 2.8 £ 0.0 +112.3 £ 1.5
78b-2c-ethip6srhip6 -ipbbas 5.6 £ 0.0 10.1 + 0.0 +81.5 =+ 1.1
64b-2c-eth-12xcbase-eth-2v 8.4 £ 0.4 15.2 + 0.1 +81.3 £+ 9.4
64b-2c-ethipd -ipdbase-eth- 6.6 £ 0.6 11.7 + 0.1 +78.8 £ 15.2
64b-2c-eth-12bdbasemaclrn- 6.7 £ 0.3 12.0 = 0.1 +78.6 £ 6.8
imix-2c-ethipd4ipsecl1000tnl 3.0 £ 0.0 5.4 £ 0.0 +77.9 £ 1.1
78b-2c-ethip6srhip6 -ipbbas 6.1 £ 0.0 10.7 + 0.0 +76.3 = 1.0
imix-2c-ethipd4ipsecl1000tnl 3.1 £ 0.0 5.4 £ 0.0 +76.2 = 1.9
imix-2c-ethipd4ipsecdtnlsw- 3.5 £ 0.0 6.2 £ 0.1 +75.4 = 2.6
64b-2c-dotlg-12xcbase-eth- 7.5 £ 0.2 12.7 £ 0.1 +69.4 £ 4.4


https://plot.ly/

